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� !�/�%# ,	�- !�����%!#�� ��00#!#�1������$ � !�

dz = −a(t) du+ b(t)v dt, t � p, z ∈ R
n, ‖v‖ � 1. <	�	=

>�#�� p ? ������
+ ���#�% "!#�#��@ a(t)� 0 � b(t)� 0( �!��#� 0��'1�$ a(t) $"�$#%�$ �#�!#*
!
"��+ �� ������� (−∞, p]( � 0��'1�$ b(t) �����!�#�� �� '�)��� �%!#�'# [τ1, τ2] ⊂ (−∞, p]@
‖ · ‖ ? ��!�� " R

n�
A� "
/�! ��!�"�#��$ �#!"� � � !�'� ��'���
"�#%�$ ���������# � !����#��#

μ(t) = μ0 −
∫ t

t0

‖du(r)‖ � 0.

>�#�� t0 ? �������
+ ���#�% "!#�#��( μ0 � 0 ? �������
+ ����� !#��!��"( '�%�!
+ �#!"
+
� !�' ���)#% ��������"�%� �!� 0�!��!�"���� �"�# � ��!�"�#��$� �%�!�+ � !�' "
/�!�#%
��!�"�#��# v�

>����
 ����� 0 < ε1 < ε2� B#!"
+ � !�' �%!#��%�$ ���3#�%"�%� �#!�"#��%"�

ε1 � ‖z(p)‖ � ε2. <	��=

C#�� "%�!� � � !�'� �!�%�"�����)���
��$ � !
 <	�	= " ,	�- ���%!�#� ��'�������
+ �%�/����
+ ���% ,	6-( ��#.3�+ "��

W (t) = {(z, μ) ∈ R
n × R+ : g(t, μ) � ‖z‖ � G(t, μ), μ � M(t)}, <	�5=

 �# 0��'1�� G(t, μ) ∈ R( g(t, μ) � 0 � M(t) � 0 "
����#�
 " $"��� "��#�
C#�� �����+ �%�%�� ��'�.��#%�$ " ���%!�#��� ���%"#%�%"�.3�& ��!�"�#��+ � !�'�"�

� )! �*+���,���� �"*-#$�./0 -*+%�,���1 �2+"&"� � *"+"3����"2" �.� ���3���4

��������	�
 ������� 	���
� $"�$#%�$ ��!� 0��'1�+ ,		- φ(t) ∈ R+ � u(t, z) ∈ R
n�

B!� "
/�!# 4%�& 0��'1�+ " �%�#���
# ���#�%
 "!#�#�� ���3#�%"�$#%�$ �& '�!!#'1�$
,	�( 	:-( '�%�!�$ �!���"���%�$ ��#��.3�� �/!����� B#!"
+ � !�' "
/�!�#% '��#��
+ ��/�!
���#�%�" '�!!#'1�� t0 = τ0 < τ1 < . . . < τl = p� � ���#�% "!#�#�� τi( i = 0, l( ���$ !#�����"�"*
2##�$ ���%�$��# ‖z(τi)‖( μ(τi)( �� "
/�!�#% �!���"�����. 0��'1�. ui : [τi, τi+1) × R

n → R
n(

���"�#%"�!$.3�. !�"#��%"� ‖ui(t, z)‖ = 1( �/���.%�� �#�!#!
"��.( �#�/
"�.3�. 0��'1�.
φi : [τi, τi+1] → R+ � ����� Δi � 0 %�'�#( �%�

μ(t) = μ(τi)−Δi −
∫ t

τi

φ̇i(r) dr � 0, τi < t � τi+1. <��	=

��������	�
 ������� 	���
� $"�$#%�$ �!���"�����$ 0��'1�$ v : (−∞, p] × R
n → R

n( ���*
"�#%"�!$.3�$ � !����#��. ‖v(t, z)‖ � 1�

��	���	�( ��!�)�#���# "
/!���
�� �� �%!#�'# [τi, τi+1] ��!�"�#��$��( ��!#�#��� � ��*
��3�. �����
&� ��$ 4%� � ��0�'��!�#� !��/�#��# ω � ����#%!�� d(ω)D

ω : τi = t(0) < t(1) < . . . < t(k+1) = τi+1, d(ω) = max
0�j�k

(t(j+1) − t(j)) <���=

� ���%!��� �����
# ,		( �� 
�-

zω(t
(0)) = z(τi)−Δia(τi)u(τi, z(τi)) = z(τi + 0),

zω(t) = zω(t
(j))−

(∫ t

t(j)
a(r)φ̇(r) dr

)
u
(
t(j), zω(t

(j))
)
+

(∫ t

t(j)
b(r) dr

)
v
(
t(j), zω(t

(j))
)
, <��5=

�!� t(j) � t � t(j+1)( j = 0, k�
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E#�#+�%"� �����
& <��5= �� �%!#�'# [τi, τi+1] $"�$#%�$ ,		( �� 6:- !�"���#!�� � !����#��
�
� !�"���%#�#��� �#�!#!
"�
�� E�#��"�%#����( ��� ���"�#%"�!$.% ����"�$� %#�!#�
 �!1#*
�� ,	
( �� �5:-� B�� �"�)#��#� z(t) �� �%!#�'# [τi, τi+1] /��#� ������%� !�"���#!�
+ �!#�#�
����#��"�%#�����%� �����
& zωk

(t)( � '�%�!
& ����#%! !��/�#��$ d(ωk) → 0� ���#�#��# ��*
���� !#��!��" μ(t) ��!#�#�$#%�$ 0�!����+ <��	=�

� '��#��
+ ���#�% "!#�#�� p �#!"
+ � !�' "
/�!�#% ����� Δ ∈ [0, μ(p)] � "#'%�! u ∈ R
n

� ‖u‖ = 1� B�� !#�����"�"2���$ " ���#�% "!#�#�� p ���%�$��#� ������#%�$

z(p+ 0) = z(p)−Δa(p)u, μ(p+ 0) = μ(p)−Δ � 0. <��6=

C#�� �#!"� � � !�'� ��'�.��#%�$ " %��( �%�/
 "#'%�! z(p + 0) �!� �#'�%�!
& ����# Δ ∈
∈ [0, μ(p)] � "#'%�!# u ∈ R

n � ‖u‖ = 1 ���"�#%"�!$� �#!�"#��%"�� <	��=�
�� 0�!���
 <��6= ��#��#%( �%� #��� "#'%�! z(p+ 0) ���"�#%"�!$#% �#!�"#��%"�� <	��=( %�

ε1 − μ(p)a(p) � ‖z(p)‖ � ε2 + μ(p)a(p). <���=

���� a(p) = 0( %� �./�+ z(p+0) !�"#� z(p)( �( ��#��"�%#����( �#!�"#��%"� <	��= "
����#�
�
B��%� "
����#�
 �#!�"#��%"� <���= � a(p) > 0� ���� z(p) ���"�#%"�!$#% <	��=( %� �!� Δ = 0

"#'%�! z(p+ 0) = z(p) ���"�#%"�!$#% <	��=�
�����%��( �%� ‖z(p)‖ > ε2� �����#�

u =
z(p)

‖z(p)‖ , 0 < Δ =
‖z(p)‖ − ε2

a(p)
� μ(p).

�� ��( �� ����� <��6=( ‖z(p + 0)‖ = ε2�
���� ‖z(p)‖ < ε1( %� �!�

u = − z(p)

‖z(p)‖ , 0 < Δ =
ε1 − ‖z(p)‖

a(p)
� μ(p)

"
����#�� !�"#��%"� ‖z(p + 0)‖ = ε1�
E ��#%�� "
2#����)#��� � ���%�#�( �%� 1#�� �#!"� � � !�'� ��'�.��#%�$ " %��( �%�/


" ���#�% "!#�#�� p ���3#�%"�%� �#!�"#��%"� <���=�
C#�� "%�!� � � !�'� �!�%�"�����)��� 9%�#%��( �%� �����+ ε1 = 0 !�����%!#� " !�/�%# ,�-�

� 5! �"+.-,�+"�&% +�'-,6$%$"�

9/�������

m(t) = max
t�r�p

a(r), t � p. <5�	=

F%� 0��'1�$ $"�$#%�$ �#�!#!
"��+ �!� t � p � ���"�#%"�!$#% ��#��.3#�� ����"�.D

t1 < t2 � p ⇒ m(t1) � m(t2) � a(p) � 0.

	+��*","3����  ! ��	 ���� t < p ��������� ����������� m(t) > 0�

	+��*","3���� )! ��� ������ �	��� t0 < p ���������� �	��� t0 = τ0 < τ1 < . . . < τl = p
��
	�� ��� �� 
����
 	� �����
�� [τi, τi+1] ��������� ���� 	� �����	� m(t) = a(t) ��� ����

t ∈ [τi, τi+1] 	�	 m(t) = m(τi+1) ��� ���� t ∈ [τi, τi+1]�

�
��2#� 0��'1��( ��+�#��
# " ,	�-( ��!#�#�$.3�# ��$ t < p( μ � 0 ��'�������
+ �%�*
/����
+ ���% W (t) <	�5=D

g(t, μ) =

⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

max(ε1 − μm(p); 0) �!� t = p � μ � 0,

ε1 − μm(t) +B(t, p) �!� 0 � μ < ν(t) � q � t < p,

ε1 + ε2
2

−m(t)(μ −D(t)) �!� 0 � μ < ν̂(t) � q1 � t < q,

0 ? "� "�#& ��%����
& �����$&,

<5��=




� ���� �&�/�%�"( ���� ���#�%�#"
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G(t, μ) =

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

ε2 + μm(t)−B(t, p) �!� q � t < p � μ � 0,

ε1 + ε2
2

+m(t)(μ−D(t)) �!� q1 � t < q � μ � 0,

ε1 + ε2
2

+m(t)(μ−D(q1))−B(t, q1) �!� q2 � t < q1 � μ � 0,

m(t)(μ −D(t) +D(q2)−D(q1)) �!� t < q2 � μ � 0,

<5�5=

ν(t) = inf
t�τ<p

(
ε1 +B(τ, p)

m(τ)

)
, ν̂(t) = min

(
ν(q); min

t�r�q

(
ε1 + ε2
2m(r)

+D(r)

))
�!� t � q, <5�6=

M(t) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0 �!� q � t < p,

D(t) �!� q1 � t < q,

D(q1) �!� q2 � t < q1,

D(t)−D(q2) +D(q1) �!� t < q2.

<5��=

>�#�� �/�����#��

B(t, τ) =

∫ τ

t
b(r) dr, D(t) =

∫ q

t

b(r)

m(r)
dr �!� t � q, <5�:=

q = inf

{
t < p : B(t, p) � ε2 − ε1

2

}
, q1 = inf{t < q : D(t) < ν̂(t)}, <5�
=

q2 = inf

{
t < q1 : B(t, q1) �

ε1 + ε2
2

}
. <5��=

�� ����"�$ ��'���������%� �%�/����� � ���%� <	�5= ��#��#%( �%� #��� ��������# ���%�$*
��# t0 < p( (z(t0), μ(t0)) ∈ W (t0)( %� ��3#�%"�#% ��!�"�#��# �#!"� � � !�'�(  �!��%�!�.3##
"
����#��# �#!�"#��%" <���=� ���� )# (z(t0), μ(t0)) /∈ W (t0)( %� ��+�#%�$ ��!�"�#��# "%�!� �
� !�'�( �!� '�%�!�� &�%$ /
 ���� �� �#!�"#��%" <���= �# "
����#��� B��%!��� 4%� ��!�"�#��$
� !�'�"�

� �����#+2#� ��%!#/�.%�$ �#'�%�!
# �"�+�%"� 0��'1�+ <5�6=�


�..%  ! ��� ������ �	��� t∗ < p �������� �	��� t∗ ∈ (t∗, p]� ��	 
�����
 a(t∗) = m(t∗) >
> 0 	 ��������� �����������

ν(t∗) �
ε1 +B(t∗, p)

a(t∗)
. <5��=

� � ' � � � % # � � � % " �� ������# ��'�)#�( �%� ν(t∗)=
ε1 +B(τ∗, p)

m(τ∗)
�!� �#'�%�!�� τ∗ ∈ [t∗, p]�

� ����� �#�#( #��� m(p) = 0( %� �� ����"�$ ε1 > 0 ��#��#%( �%� ν(t∗) = min
t∗�τ�τ∗

ε1 +B(τ, p)

m(τ)
�!�

�#'�%�!�� τ∗ ∈ [t∗, p)� ���� m(p) > 0( %� �!#�
��3�$ 0�!���� "#!�� �!� τ∗ = p� 9%�.�� � ��
�#�!#!
"���%� 0��'1�+ B(τ, p) � m(τ) ������� ��3#�%"�"���# %!#/�#�� � ����� τ∗� B�4%���
��)#� ��!#�#��%� �����

t∗ = sup

{
τ∗ ∈ [t∗, p] : ν(t∗) �

ε1 +B(τ∗, p)
m(τ∗)

}
.

�� �#�!#!
"���%� 0��'1�+ B(τ, p) � m(τ) ��#��#%( �%� �#!�"#��%"�( �%�$3## " �'�/'�&( "
*
����#�� � �!� τ∗ = t∗�

�����%��( �%� a(t∗) < m(t∗)� �� �� �� 0�!���
 <5�	= �������( �%� ��3#�%"�#% ����� t1 ∈
∈ (t∗, p] %�'�#( �%� m(t∗) = m(t1)� E�#��"�%#����(

ε1 +B(t∗, p)
m(t∗)

=
ε1 +B(t∗, p)

m(t1)
� ε1 +B(t1, p)

m(t1)
.
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F%� �#!�"#��%"� �!�%�"�!#��% ��!#�#�#��. ����� t∗� ��'�� �/!����( ��+�#���# ����� t∗ ���*
"�#%"�!$#% �#!�"#��%"� <5��=� �

9%�#%��( �%� 0��'1�� <5�6= ���"�#%"�!$.% ����"�. ����%�����%�( � ��#���D #��� t1 < t2(
%� ν(t1) � ν(t2) � ν̂(t1) � ν̂(t2)�


�..% )! !��	 t1 < t2 	 m(t1) = m(t2)� ��

ν(t1) = ν(t2), ν̂(t1) = ν̂(t2). <5�	�=

� � ' � � � % # � � � % " �� �� 0�!���
 <5�	= ��#��#%( �%� m(τ) = m(t2) �!� t1 � τ � t2� B�4%�*
��

ν(t1) = min

(
inf

t1�τ�t2

ε1 +B(τ, p)

m(τ)
; ν(t2)

)
= min

(
ε1 +B(t2, p)

m(t2)
; ν(t2)

)
= ν(t2).

����� ����D ��������$ !�"#��%"�

D(r) =
1

m(t2)
B(r, t2) +D(t2) �!� t1 � r � t2, <5�		=

'�%�!�# ��#��#% �� <5�:=( �������( �%� �!� t1 < t2 � q "
����#�� "%�!�# !�"#��%"� " <5�	�=� �
9%�#%��( �%� " �/3#� �����#

ν̂(t1) = min

(
ν̂(t2); min

t1�r�t2

(
ε1 + ε2
2m(r)

+D(r)

))
�!� t1 < t2 � q. <5�	�=

� 7! �%�%(% *+�#,��"�%��4 � #,-(%� q � t0 < p

9/�������

w(z) =
z

‖z‖ �!� ‖z‖ > 0, � w(0) ? �./�+ "#'%�! � ����"�#� ‖w(0)‖ = 1. <6�	=


�..% 5! ����" τi 	 τs+1 # ��� 
�
���� 
����
$		� i � s � l� %��
$		 φj(t) = 0 ��	

j = i, s� �	��� Δi � 0 	 Δj = 0 ��	 j = i+ 1, s� &���� ���	 ��� uj(t, z) = w(z)� �� ��� ������

����	�����'����� ��	���	� z(t) ��������� �����������∣∣‖z(τi)‖ −Δia(τi)
∣∣−B(τi, τs+1) � ‖z(τs+1)‖ �

∣∣‖z(τi)‖ −Δia(τi)
∣∣+B(τi, τs+1). <6��=

!��	 �� ��� uj(t, z) = −w(z)� ��

‖z(τi)‖+Δia(τi)−B(τi, τs+1) � ‖z(τs+1)‖ � ‖z(τi)‖+Δia(τi) +B(τi, τs+1). <6�5=

(���" %��
$	� w(z) ���������� %��
���� <6�	=�

� � ' � � � % # � � � % " �� B!��#�$$ �#!�"#��%"� %!#� �����'�( �������( �%� ��$ �./�+ ��*
����+ <��5= "
����#�� �#!�"#��%"�

‖zω(t(0))‖ −
∫ τi+1

τi

b(r) dr � ‖zω(τi+1)‖ � ‖zω(t(0))‖+
∫ τi+1

τi

b(r) dr.

���##( ‖zω(t(0))‖ = ‖z(τi)−Δia(τi)w(z(τi))‖ =
∣∣∣‖z(τi)‖−Δia(τi)

∣∣∣. B�4%���( �#!#&��$ " �!#�
��*

3#� �#!�"#��%"# ' �!#�#�� � ��������$ �#!"�# �/�����#��# " <5�:=( ������� �#!�"#��%"� <6��=
�!� s = i� ���##( ���%
"�$( �%� Δi+1 = 0( ����� ���� �������( �%�

‖z(τi+2)‖ −B(τi+1, τi+2) � ‖z(τi+2)‖ � ‖z(τi+2)‖+B(τi+1, τi+2).
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9%�.�� � �� !��## ��'������ � �#!�"#��%"� �������( �%� �#!�"#��%"� <6��= "
����#�
 �!�
s = i+ 1 � %�' ���##� ����� ���� ��'��
"�.%�$ �#!�"#��%"� <6�5=� �

�� 0�!��� <	�5=( <5�5= � <5��= ��#��#%( �%� �!� q � t0 � p "'�.�#��# (z(t0), μ(t0)) ∈ W (t0)
"
����#�� %� �� � %���'� %� ��( '� ��

g(t0, μ(t0)) � ‖z(t0)‖ � ε2 + μ(t0)m(t0)−B(t0, p), μ(t0) � 0. <6�6=

B!� ���%!�#��� ��!�"�#��$ �#!"� � � !�'�( �/#��#��"�.3# � "
����#��# ����"�+ �'��*
����$ <���=( /��#% ��������"�%��$ �#!�"#��%"�

B(t, p) � ε2 − ε1
2

�!� q � t � p, <6��=

'�%�!�# ��#��#% �� �#!"�+ 0�!���
 " <5�
=� �� �#!�"#��%"� <6��= � �� 0�!���
 <5��= ��#��#%(
�%�

g(t0, μ(t0)) � ε1 +B(t0, p) � ε2 −B(t0, p). <6�:=

B��%� ���#�% '�!!#'1�� q � τi < p %�'�"( �%� a(τi) > 0( � !#�����"�"2##�$ " 4%�% ���#�%
"!#�#�� ���%�$��# ���"�#%"�!$#% �#!�"#��%"��

ε1 − μ(τi)a(τi) +B(τi, p) � ‖z(τi)‖ � ε2 + μ(τi)a(τi)−B(τi, p). <6�
=


�..% 7! ����"

ε2 −B(τi, p) � ‖z(τi)‖ � ε2 + μ(τi)a(τi)−B(τi, p). <6��=

&���� %��
$		 uj(t, z) = w(z)� φj(t) = 0 ��	 j = i, l� �	��� Δj = 0 ��	 j = i+ 1, l 	

0 � Δi =
‖z(τi)‖ − ε2 +B(τi, p)

a(τi)
� μ(τi) <6��=

�������	���� ��������	� ���������� <	��= 	� ����������"��� ���������� <���=�

� � ' � � � % # � � � % " �� �� 0�!��� <6��= � <6��= � �� �#!�"#��%" <6��= ��#��#%( �%�

ε2 − 2B(τi, p) = |ε2 −B(τi, p)| −B(τi, p) � ‖z(p)‖ � |ε2 −B(τi, p)|+B(τi, p) = ε2.

>�#�� ��������"��� �#!�"#��%"� B(τi, p) � ε2( '�%�!�# ��#��#% �� <6��=� ���##( ε2−2B(τi, p) � ε1
" ���� <6��=� �


�..% 8! ����"

ε1 +B(τi, p) � ‖z(τi)‖ � ε2 −B(τi, p). <6�	�=

&���� %��
$		 uj(t, z) = w(z)� φj(t) = 0 	 �	��� Δj(t) = 0 ��	 j = i, l �������	���� ��������	�

���������� <	��=�

� � ' � � � % # � � � % " �� A#!�"#��%"� <	��= �#���!#��%"#��� ��#��.% �� <6��= � <6�	�=� �


�..% 9! ����"

ε1 − μ(τi)a(τi) +B(τi, p) � ‖z(τi)‖ � ε1 +B(τi, p). <6�		=

&���� %��
$		 uj(t, z) = −w(z)� φj(t) = 0 ��	 j = i, l� �	��� Δj = 0 ��	 j = i+ 1, l 	

0 � Δi =
ε1 − ‖z(τi)‖+B(τi, p)

a(τi)
� μ(τi) <6�	�=

�������	���� ��������	� ���������� <	��=�
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� � ' � � � % # � � � % " �� �� �#!�"#��%" <6�5= � �� 0�!��� <6�		= � <6�	�= ��#��#%( �%�

ε1 � ‖z(p)‖ � ε1 + 2B(τi, p) � ε2. �

�%.�(%���  ! �� �#!�"#��%" <6�:= ��#��#%( �%� #��� !#�����"�"2##�$ ���%�$��# (z(τi), μ(τi))
���"�#%"�!$#% �#!�"#��%"� <6�
=( %� ��� ���"�#%"�!$#% ������ �� �#!�"#��%" <6��=( <6�	�=
��� <6�		=�

B#!#+�#� ' ���%!�#��. ��!�"�#��$ �#!"� � � !�'�� B��%� ��������# ���%�$��# ���"�#%"�*
!$#% <6�6=�

�,-(%1  ! B��%� m(t0) = a(p)� B#!"
+ � !�' /#!#% ���#�%
 '�!!#'1�� τ0 = t0( τ1 = p(
0��'1�� φ0(t) = 0( u0(t, z) = w(z) � ����� Δ0 = 0� �� �� μ(p) = μ(t0)� �� �#!�"#��%" <6��=
� <6�6= �������( �%�

g(t0, μ(t0))−B(t0, p) � ‖z(p)‖ � ε2 + μ(p)a(p). <6�	5=

B�'�)#�( �%� "
����#�� �#"�# �#!�"#��%"� " <���=� ���� μ(t0) < ν(t0)( %� 4%� ��#��#% �� 0�!*
���
 <5��= � �#"� � �#!�"#��%"� " <6�	5=� B��%� μ(t0) � ν(t0)� �� 0�!���
 <5�	=( ���%
"�$
�!#�����)#��# 	( ������� m(t) = a(p) > 0 �!� "�#& t0 � t � p� 9%�.�� � �� �#��
 � ��#*
��#%( �%� ν(t0) = ε1/a(p)� B�4%��� ε1 − μ(p)a(p) � 0� E%��� /
%�( �#"�# �#!�"#��%"� " <���=
"
����#���

�,-(%1 )! B��%� m(t0) = a(t0)� �� �� �� �!#�����)#��$ 	 ��#��#%( �%� a(t0) > 0� B��%�

ε1 +B(t0, p) � ‖z(t0)‖ � ε2 + μ(t0)m(t0)−B(t0, p).

F%� �����%( �%� �!� τi = τ0 = t0 "
����#�� ���� �� �#!�"#��%" ? <6��= ��� <6�	�=� ��!�"�#��#
�%!��%�$ �� �!�"���( �!�"#�#����� �!� ��'���%#���%"# �#�� 6 � ��

B��%�

g(t0, μ(t0)) � ‖z(t0)‖ � ε1 +B(t0, p). <6�	6=

B��%� μ(t0) < ν(t0)� �� ��( '�' ��#��#% �� 0�!���
 <5��=( �#!�"#��%"� <6�	6= �!�����.% "��
<6�		= �!� τi = τ0 = t0� ��!�"�#��# �%!��%�$ �� �!�"���( ���������� �!� ��'���%#���%"#
�#��
 :�

B��%� μ(t0) � ν(t0)� �� �� �#!�"#��%"� <6�	6= �!�����.% "��

0 � ‖z(t0)‖ � ε1 +B(t0, p). <6�	�=

B!��#�$$ �#��� 	( ��+�#� ����� t0 � t∗ � p %�'�#( �%� a(t∗) > 0 �

ε1 − μ(t0)a(t
∗) +B(t∗, p) � 0. <6�	:=

9%�.�� � �� �#!�"#��%" <6�	�= �������( �%� #��� t∗ = t0( %� "
����#�� �#!�"#��%"� <6�		=
�!� τi = τ0 = p� ��!�"�#��# �%!��%�$ %�' )#( '�' � " �#��# :�

B��%� t∗ = p� B#!"
+ � !�' /#!#% τ0 = t0( τ1 = p( 0��'1�� u0(t, z) = w(z) � φ0(t) = 0� �� ��
μ(p) = μ(t0) �( �� ����� <6�	:=( ε1 − μ(p)a(p) � 0� ���##( �� �#!�"#��%" <6�5= � <6�	�= �������(
�%� ‖z(p)‖ � ε1 + 2B(t0, p) � ε2� E%��� /
%�( �#!�"#��%"� <���= "
����#�
�

B��%� t0 < t∗ < p� B#!"
+ � !�' /#!#% τ0 = t0( τ1 = t∗( τ2 = p( 0��'1�� u0(t, z) = w(z)
� φ0(t) = 0 � ����� Δ0 = 0� �� �� μ(τ1) = μ(t0) �( '�' ��#��#% �� <6��= � <6�	�=(

‖z(τ1)‖ � ε1 +B(t0, p) +B(t0, τ1) = ε1 + 2B(t0, p)−B(τ1, p) � ε2 −B(τ1, p).

B�4%��� #��� ε1 +B(τ1, p) � ‖z(τ1)‖( %� �!��#�$#%�$ �#��� � � τi = τ1� ���� )# ε1 +B(τ1, p) >
> ‖z(τ1)‖( %�( � ��#%�� �#!�"#��%"� <6�	:=( ������� �#!�"#��%"� <6�		= �!� τi = τ1� ���##
�!��#�$#%�$ �#��� :�

�,-(%1 5! B��%� m(t0) = a(t∗) �!� �#'�%�!�� q < t∗ < p� �� �� a(t∗) = m(t∗) > 0�
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���� μ(t0) < ν(t0)( %� �#!�"#��%"� <6�6= �!�����.% "��

ε1 − μ(t0)a(t∗) +B(t0, p) � ‖z(t0)‖ � ε2 + μ(t0)a(t∗)−B(t0, p). <6�	
=

B#!"
+ � !�' /#!#% ���#�%
 '�!!#'1�� τ0 = t0( τ1 = t∗( τ2 = p( 0��'1�� u0(t, z) = w(z)(
φ0(t) = 0 � ����� Δ0 = 0� �� �� μ(τ1) = μ(t0)� �� �#!�"#��%" <6��= � <6�	
= �������( �%�
" ���#�% "!#�#�� τi = τ1 "
����#�
 �#!�"#��%"� <6�
=� ���## �!��#�$#� �#��
 6( �( :�

B��%� μ(t0) � ν(t0)� �� �� �#!�"#��%"� <6�6= �!�����.% "��

0 � ‖z(t0)‖ � ε2 + μ(t0)a(t∗)−B(t0, p). <6�	�=

B��'���'� m(t0) = m(t∗)( %� �� �#��
 � ������� �#!�"#��%"� μ(t0) � ν(t∗)� ��$ ����� t∗
��+�#� ����� t∗ ∈ [t∗, p]( ��$ '�%�!� � "
����#�� �#!�"#��%"� <5��=� B#!"
+ � !�' /#!#% τ0 = t0(
τ1 = t∗( τ2 = t∗( τ3 = p( 0��'1�� u0(t, z) = w(z)( φ0(t) = 0 � ����� Δ0 = 0� �� �� μ(t0) = μ(τ1) �
� ν(τ1) �( �� ����� <6��= � <6�	�=(

0 � ‖z(τ1)‖ � ‖z(t0)‖+B(t0, τ1) � ε2 + μ(τ1)a(τ1)−B(τ1, p).

���� ε2 − B(τ1, p) � ‖z(τ1)‖( %� �#!"
+ � !�' /#!#% 0��'1�� uj(t, z) = w(z)( φj(t) = 0 �!�
j = 1, 2( ����� Δ1( ��!#�#�$#��# 0�!����+ <6��= �!� τi = τ1( � ����� Δ2 = 0� �� �� �� �#��

6 ������� �#!�"#��%"� <	��=�

���� ε1 +B(τ1, p) � ‖z(τ1)‖ � ε2 −B(τ1, p)( %� �#!"
+ � !�' /#!#% uj(t, z) = w(z)( φj(t) = 0(
Δj = 0 �!� j = 1, 2� �� �� �� �#��
 � ������� �#!�"#��%"� <	��=�

B��%� ‖z(τ1)‖ � ε1+B(τ1, p)� B��'���'� μ(τ1) � ν(τ1)( %� �� �#!�"#��%"� <5��= �������( �%�
ε1 − μ(τ1)a(τ2) +B(τ2, p) � 0� ��!�"�#��# �%!��%�$ %�' )#( '�' � ��$ �����$ <6�	�=( <6�	:=�

� 8! �%�%(% *+�#,��"�%��4 � #,-(%� t0 < q

G�����%!�� "�����# �����+( '� �� q1 � t0 < q� ��&��$ �� �!#�����)#��$ 	( ���%!���
���#�%
 '�!!#'1�� t0 = τ0 < τ1 < . . . < τl < τl+1 = q� �� 0�!��� <	�5=( <5�5= � <5��= ��#��#%(
�%� "'�.�#��# (z(τi), μ(τi)) ∈ W (τi) "
����#�� %� �� � %���'� %� ��( '� ��

g(τi, μ(τi)) � ‖z(ti)‖ � ε1 + ε2
2

+m(τi)(μ(τi)−D(τi)), μ(τi) � D(τi). <��	=

9%�#%��( �%� #���

‖z(ti)‖ =
ε1 + ε2

2
, μ(τi) � D(τi), <���=

%� �#!�"#��%"� <��	= "
����#�
� � ����� �#�#( �#!�"#��%"� g(τi, μ(τi)) �
ε1 + ε2

2
�!� q1 � τi � q

�#���!#��%"#��� ��#��#% �� 0�!���
 <5��=�
B!� i = 0 �#!�"#��%"� <��	= "
����#�
� B��%� ��� "
����#�
 �!� �#'�%�!�� i = 0, l� B�*

�%!��� �� �%!#�'# [τi, τi+1] ��!�"�#��# �#!"� � � !�'�( �/#��#��"�.3## "
����#��# �#!�"#��%"
<��	= �!� i+ 1�

�,-(%1  ! B��%� m(t) = m(τi) �!� "�#& τi � t � τi+1� B#!"
+ � !�' /#!#% 0��'1��
φi(t) = 0( ui(t, z) = w(z) � ����� Δi = 0� �� �� μ(τi+1) = μ(τi)� B�4%��� �� 0�!���
 <5�		=
��#��#%( �%� μ(τi+1) � D(τi+1)� �� 0�!��� <5�		= � <6��= ��#��#%( �%� �!� i+1 "
����#�� �!�"�$
���%� �#!"� � �#!�"#��%"� " <��	=�

B�'�)#�( �%� "
����#�� � �#"�$ ���%� �#!"� � �#!�"#��%"� " <��	=�
B��%� μ(τi) < ν̂(τi)� B��'���'� μ(τi+1) = μ(τi) �( �� ����� "%�!��� !�"#��%"� " <5�	�=(

ν̂(τi) = ν̂(τi+1)( %� �� 0�!���
 <5��= �������( �%� g(τi, μ(τi)) = g(τi+1, μ(τi+1)) + B(τi, τi+1)�
>�#�� %�')# ��������"��� !�"#��%"� <5�		=� 9%�.��( ��������$ �#"�# �#!�"#��%"� " <6��=( ��*
�����( �%� �#"�$ ���%� �#!"� � �#!�"#��%"� " <��	= "
����#�� �!� i+ 1�

B��%� μ(τi) � ν̂(τi)� �� �� μ(τi+1) � ν̂(τi+1)� �� 0�!���
 <5��= ��#��#%( �%� g(τi+1, μ(τi+1)) =
= 0� >����%( %!#/�#��# �#!�"#��%"� "
����#���



E��%#� ��!�"�#��+ " ����%����+ � !�"�+ �����# 
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�,-(%1 )! B��%� m(t) = a(t) �!� "�#& τi � t � τi+1� �� �� a(τi) > 0� B#!"
+ � !�' /#!#%
�!� τi � t � τi+1

φi(t) =

∫ t

τi

b(r)

m(r)
dr; ui(t, z) = w(z) �!� ‖z‖ � ε1 + ε2

2
� ui(t, z) = −w(z), #��� ����#. <��5=

B��%� ‖z(τi)‖ � ε1 + ε2
2

� B#!"
+ � !�' /#!#% ����� 0 � Δi =
2‖z(τi)‖ − ε1 − ε2

2a(τi)
� μ(τi).

�����#� !��/�#��# ω <���= �%!#�'� [τi, τi+1]� �� �� ��$ ������+ <��5= � 0��'1�$�� <��5= ����*

���( �%� ‖zω(t(0))‖ =
ε1 + ε2

2
�

zω(t) = zω(t
(j))−

∫ t

t(j)
b(r) dr

(
u(t(j), zω(t

(j)))− v(t(j), zω(t
(j)))

)
.

B!��#�$$ %#�!#�� 	 �� !�/�%
 ,	�-( " ����"�$& '�%�!�+ �!��#� ε1 = ε2 = ‖zω(t(0))‖( �������(

�%� ‖zω(τi+1)‖ =
ε1 + ε2

2
� ���##(

μ(τi+1) = μ(τi)− 2‖z(τi)‖ − ε1 − ε2
2m(τi)

−
∫ τi+1

τi

b(r)

m(r)
dr.

9%�.��( ��������$ "%�!�. 0�!���� " <5�:=( �������( �%�

μ(τi+1) =
1

m(τi)

(
m(τi)(μ(τi)−D(τi)) +

ε1 + ε2
2

− ‖z(τi)‖
)
+D(τi+1) � D(τi+1). <��6=

>�#�� ��������"��� "%�!�# �#!�"#��%"� " <��	=� ��'�� �/!����( �!� τi+1 "
����#�
 ���%��2#*
��$ <���=� E%��� /
%�( "
����#�
 �#!�"#��%"� <��	=�

G�����%!�� %#�#!� �����+( '� �� ‖z(τi)‖ <
ε1 + ε2

2
� B��%� μ(τi) < ν̂(τi)� �� �� �#!"�# �#!�*

"#��%"� " <��	= �!�����#% "��

ε1 + ε2
2

− a(τi)(μ(τi)−D(τi)) � ‖z(τi)‖. <���=

B#!"
+ � !�' /#!#% �����

0 � Δi =
ε1 + ε2 − 2‖z(τi)‖

2a(τi)
� μ(τi). <��:=

�� �� ��$ ������+ <��5= "
����#�� !�"#��%"� ‖zω(t0)‖ =
ε1 + ε2

2
� ��' � !��##( �������( �%�

��$ 0��'1�+ <��5= "
����#�� !�"#��%"� ‖zω(τi+1)‖ =
ε1 + ε2

2
� ����� ���� <��6= �������( �%�

μ(τi+1) =
1

m(τi)

(
m(τi)(μ(τi)−D(τi))− ε1 + ε2

2
+ ‖z(τi)‖

)
+D(τi+1) � D(τi+1).

>�#�� ��������"��� �#!�"#��%"� <��6=� E%��� /
%�( �!� τi+1 "
����#�
 ���%��2#��$ <���=�
B��%� μ(τi) � ν̂(τi)� �� �� �� 0�!���
 <5�	�= � �� !�"#��%"� a(t) = m(t) �!� τi � t � τi+1

��#��#%( �%� "
����#�� ���� �� �#!�"#��%"D

μ(τi) � ν̂(τi+1) ��� μ(τi) �
ε1 + ε2
2a(τ)

+D(τ) <��
=

�!� �#'�%�!�� τ ∈ [τi, τi+1]�
B#!"
+ � !�' /#!#% 0��'1�� φi(t) = 0( ui(t, z) = w(z) � ����� Δi = 0� �� ��

μ(t) = μ(τi) � D(τi) � D(t) �!� τi � t. <���=




� ���� �&�/�%�"( ���� ���#�%�#"
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B!� "
/!����� ��!�"�#��� "%�!
� � !�'�� !#�����#%�$ ‖z(t)‖( ����#��# '�%�!� � ��"#�%��
�#!"��� � !�'��

G�����%!�� �����+( '� �� "
����#�� �#!"�# �#!�"#��%"� " <��
=� B��'���'� 0��'1�$ ν̂(t)

� !��%�� t �# �/
"�#%( %� μ(τi) � ν̂(t) �!� "�#& τi � t � τi+1� ���� ‖z(t)‖ <
ε1 + ε2

2
�!�

"�#& τi � t < τi+1( %� �� <5��= � <���= �������( �%� " ���#�% "!#�#�� τi+1 /���% "
����#�

�#!�"#��%"� <��	=� B��%�

‖z(τ)‖ =
ε1 + ε2

2
�!� �#'�%�!�� τi < τ < τi+1. <���=

B#!"
+ � !�' " 4%�% ���#�% "!#�#�� �!�"���% '�!!#'1�. 0��'1�� φi(t)( ���� �$

φi(t) =

∫ t

τ

b(r)

m(r)
dr �!� τ � t � τi+1. <��	�=

�� ��( ���%
"�$ <���=( /��#� ��#%�

μ(t) = μ(τi)−
∫ t

τ

b(r)

m(r)
dr = μ(τ)−D(τ) +D(t) � D(t).

��' /
�� ��'����� !��##( �� !�"#��%" <���= � <��	�= ��#��#%( �%� ‖z(τi+1)‖ =
ε1 + ε2

2
. E%���

/
%�( �!� τi+1 "
����#�
 ���%��2#��$ <���=�
G�����%!�� %#�#!� �����+( '� �� "
����#�� "%�!�# �#!�"#��%"� " <��
=� ����

‖z(t)‖ <
ε1 + ε2

2
�!� τi � t < τ,

%�( �� ����� <��
= � <���=( " ���#�% "!#�#�� τ /���% "
����#�
 �#!�"#��%"�

ε1 + ε2
2

− a(τ)(μ(τ) −D(τ)) � 0 � ‖z(τ)‖ <
ε1 + ε2

2
+ a(τ)(μ(τ) −D(τ)).

B#!"
+ � !�' " ���#�% "!#�#�� τ �!�"���% '�!!#'1�.( "�$" 0��'1�. φi(t) <��	�= � ����� Δi(
��!#�#�$#��# 0�!����+ <��:= � ���#��+ " �#+ τi �� τ � �� ��( '�' � " �����# <���=( �!� τi+1 /���%
"
����#�
 ���%��2#��$ <���=�

����

‖z(τ∗)‖ =
ε1 + ε2

2
�!� �#'�%�!�� τi < τ∗ < τ,

%� �#!"
+ � !�' " 4%�% ���#�% "!#�#�� τ∗ �!�"���% '�!!#'1�. 0��'1�� φi(t)( ���� �$ ##
!�"��+ <��	�= � ���#��+ " 4%�+ 0�!���# τ �� τ∗� �� �� " ���#�% "!#�#�� τi+1 /���% "
����#�

���%��2#��$ <���=�

G�����%!�� %#�#!� �����+( '� �� �������
+ ���#�% "!#�#�� t0 � q1�
�� 0�!��� <	�5=( <5�5= � <5��= ��#��#%( �%� "'�.�#��# (z, μ) ∈ W (t) �!� q2 � t � q1 "
����#��

%� �� � %���'� %� ��( '� ��

‖z‖ � ε1 + ε2
2

+m(t)μ̂−
∫ q1

t
b(r) dr, μ̂ = μ−D(q1) � 0. <��		=

B��%� ��������# ���%�$��# �!� q2 � t0 < q1 ���"�#%"�!$#% ����"�$� <��		=� � !�/�*
%# ,		- <��� %#�!#�� 	��	( �� 
:= ���%!�#�� ��!�"�#��# �#!"� � � !�'�( �/#��#��"�.3## �#!�*
"#��%"� <��		= �!� t = q1� B!�"#�#� # ��

B��%� m(t0) = a(q1) ���

‖z(t)‖ � ε1 + ε2
2

−
∫ q1

t
b(r) dr �!� t = t0. <��	�=



E��%#� ��!�"�#��+ " ����%����+ � !�"�+ �����# 
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9%�#%��( �%�( �� ����� <5��=( �!�"�$ ���%� �#!�"#��%"� <��	�= �#�%!�1�%#���� �!� "�#&
t ∈ [q2, q1)� B#!"
+ � !�' /#!#% τ0 = t0( u0(t, z) = w(z)( φ0(t) = 0 � ����� Δ0 = 0�

B��%� m(t0) = a(t0) � �#!�"#��%"� <��	�= �!� t = t0 �# "
����#��� �� �� �#!"
+ � !�' /#!#%
τ0 = t0( u0(t, z) = w(z)( φ0(t) = 0 � ����� Δ0 = Δ(  �#

0 � Δ =

2‖z(t0)‖ − ε1 − ε2 + 2

∫ q1

t0

b(r) dr

2a(t0)
� μ̂(t0). <��	5=

B��%� m(t0) = a(t∗) �!� �#'�%�!�� t0 < t∗ < q1 � �#!�"#��%"� <��	�= �# "
����#��� B#!"
+
� !�' /#!#% τ0 = t0( τ1 = t∗( ui(t, z) = w(z)( φi(t) = 0 �!� i = 1, 2( ����� Δ0 = 0� ���##( #��� �!�
t = t∗ "
����#�� �#!�"#��%"� <��	�=( %� ����� Δ1 = 0� ���� )# �!� t = t∗ �#!�"#��%"� <��	�= �#
"
����#��( %� ����� Δ1 ��!#�#�$#%�$ 0�!����+ <��	5= � ���#��+ " �#+ t0 �� t∗�

B��%� t0 � q2� �� 0�!��� <	�5=( <5�5=( <5��= � <5�:= ��#��#%( �%� "'�.�#��# (z, μ) ∈ W (t) �!�
t � q2 "
����#�� %� �� � %���'� %� ��( '� ��

‖z‖ � m(t)

(
μ̂−

∫ q2

t

b(r)

m(r)
dr

)
, μ̂ = μ−D(q1) � 0. <��	6=

B��%� ��������# ���%�$��# �!� t0 < q2 ���"�#%"�!$#% ����"�$� <��	6=� � !�/�%# ,		- <���
%#�!#�� 	���( �� ��= ���%!�#�� ��!�"�#��# �#!"� � � !�'�( �/#��#��"�.3## �#!�"#��%"� <��	6=
�!� t = q2� B!�"#�#� # �� �����#� " '��#�%"# ���#�%�" '�!!#'1�� %��'� t0 = τ0 < τ1 < . . . <
< τl = q2 �� �!#�����)#��$ �� ���� m(t) = m(τi+1) �!� �./�� t ∈ [τi, τi+1]( %� �#!"
+ � !�'
/#!#% u(t, z) = w(z)( φi(t) = 0 � ����� Δi = 0� B!� m(t) = a(t) ��$ �./� � t ∈ [τi, τi+1] �#!"
+
� !�' /#!#%

Δi =
‖z(τi)‖
a(τi)

, φi(t) =

∫ t

τi

b(r)

m(r)
dr.

� 9! �%�%(% -&,"����4

B��%� v(t, z) ? ��!�"�#��# "%�!� � � !�'� �!� t∗ � t � t∗ � p( z ∈ R
n( � z(t) ? �"�)#��#(

'�%�!�# !#�����"����� �!� "
/!����� ��!�"�#��� �#!"� � � !�'��


�..% :! ����" v(t, z) = w(z)� &���� ��������� �����������

‖z(t∗)‖ � ‖z(t∗)‖ − (μ(t∗)− μ(t∗))m(t∗) +B(t∗, t∗).

��'���%#���%"� �!�"#�#�� " !�/�%# ,		- <��� �#��� 	��	( �� 
�=�


�..% ;! ����" v(t, z) = −w(z) 	 ‖z(t)‖ > 0 ��	 t∗ � t � t∗� &����

‖z(t∗)‖ � ‖z(t∗)‖+ (μ(t∗)− μ(t∗))m(t∗)−B(t∗, t∗). <:�	=

� � ' � � � % # � � � % " �� B��%� τi( i = 0, l( ? ���#�%
 '�!!#'1��� G�����%!�� "�����# ���*
��+( '� �� τi � t∗ < t∗ � τi+1� E�3#�%"�#% ����� σ > 0 %�'�#( �%� ‖z(t)‖ � 2σ �!� "�#&
t∗ � t � t∗� B��%� zs(t) ? ����#��"�%#�����%� �����
& <��5=( '�%�!�$ !�"���#!�� �&���%�$ ��
�%!#�'# [τi, τi+1] ' z(t)� �� �� �� !�"���#!��+ �&������%� � �� %#�!#�
 �/ �/���.%��+ �#�!#*
!
"���%� ��%# !��� H#/# � ,	�( �� ���- ��#��#%( �%� ��3#�%"�#% ����� δ > 0 %�'�#( �%� ��$ "�#&
�����
&( � '�%�!
& ����#%!
 d(ωs) < δ( "
����#�
 �#!�"#��%"�

B(t, t̂) < σ < ‖zs(t)‖ �!� "�#& t∗ � t < t̂ � t∗, t̂ < t+ δ. <:��=

B��%� t
(s)
r−1 � t∗ < t

(s)
r < . . . < t

(s)
j < t∗ � t

(s)
j+1� �� �� �� <��5= ��#��#%( �%� ��$ �./� � k = r, j

"
����#�� �#!�"#��%"�

‖zs(t(s)k+1)‖ �
∣∣∣‖z(t(s)k )‖ −B(t

(s)
k , t

(s)
k+1)

∣∣∣+ (
μ(t

(s)
k )− μ(t

(s)
k+1)

)
m(t

(s)
k ).
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9%�.�� � �� �#!�"#��%"� <:��= �������( �%�

‖zs(t(s)k+1)‖ � ‖z(t(s)k )‖+
(
μ(t

(s)
k )− μ(t

(s)
k+1)

)
m(t

(s)
k )−B(t

(s)
k , t

(s)
k+1). <:�5=

B!������!�#� 4%� �#!�"#��%"� � ��%#�( �%� m(t
(s)
k ) � m(t

(s)
r )� B������

‖zs(t(s)j+1)‖ � ‖zs(t(s)r )‖+
(
μ(t(s)r )− μ(t

(s)
j+1)

)
m(t(s)r )−B(t(s)r , t

(s)
j+1).

B#!#+�#� " 4%�� �#!�"#��%"# ' �!#�#�� �!� d(ωs) → 0� B������ %!#/�#��# �#!�"#��%"� <:�	=�
B��%� τi � t∗ < τi+1 < . . . < τq < t∗ � τq+1� �� �� �#!�"#��%"� <:�	= "
����#�� �!� t∗ = τi+1�

���##( 4%� �#!�"#��%"� ��&!���%�$( #��� " �#� ���#��%� ‖z(t∗)‖ � μ(t∗) ��

‖z(τi+1 + 0)‖ = ‖z(τi+1)−Δi+1a(τi+1)u(τi+1, z(τi+1))‖ � ‖z(τi+1)‖+Δi+1m(τi+1),

μ(τi+1 + 0) = μ(τi+1)−Δi+1 � 0.

9%�.�� ��#��#%( �%� �#!�"#��%"� <:�	= /��#% "
����#�� �!� ���#�# t∗ �� τ � ���##( �!�����$
τq �� t∗( ������� �#!�"#��%"� <:�	=� �


�..% <! ����" α =
ε1 + ε2

2
	

v(t, z) = w(z) ��	 ‖z(t)‖ � α 	 v(t, z) = −w(z) ��	 ‖z(t)‖ < α.

&���� ���	 ‖z(t)‖ > 0 ��	 t∗ � t � t∗� ��∣∣‖z(t∗)‖ − α
∣∣ � ∣∣‖z(t∗)‖ − α

∣∣− (μ(t∗)− μ(t∗))m(t∗) +B(t∗, t∗). <:�6=

� � ' � � � % # � � � % " �� B!��#� "�# �/�����#��$( '�%�!
# /
�� ""#�#�
 �!� ��'���%#���%"#
�#��
 �� B��%�

τi � . . . � t
(s)
r−1 � t∗ < t(s)r < . . . < t

(s)
j < t∗ � t

(s)
j+1 � . . . � τi+1.

G�����%!�� �./
# t
(s)
k < t

(s)
k+1( k = r, j�

�����%��( �%� ‖z(t(s)k )‖ � α� �� �� �� <��5= � "��� 0��'1�� v(t, z) �������( �%�

‖zs(t(s)k+1)‖ � ‖zs(t(s)k )‖ − (μ(t
(s)
k )− μ(t

(s)
k+1))m(t

(s)
k ) +B(t

(s)
k , t

(s)
k+1).

���##( ∣∣‖zs(t(s)k )‖ − α
∣∣ = ‖zs(t(s)k )‖ − α,

∣∣‖zs(t(s)k+1)‖ − α
∣∣ � ‖zs(t(s)k+1)‖ − α.

9%�.�� � �� �!#�
��3# � �#!�"#��%"� ��#��#%( �%� "
����#�� �#!�"#��%"�∣∣‖zs(t(s)k+1)‖ − α
∣∣ � ∣∣‖zs(t(s)k )‖ − α

∣∣− (μ(t
(s)
k )− μ(t

(s)
k+1))m(t

(s)
k ) +B(t

(s)
k , t

(s)
k+1). <:��=

B��%� ‖z(t(s)k )‖ < α� �� ��( ���%
"�$ "�� 0��'1�� v(t, z)( ������� �#!�"#��%"� <:�5=� ���##(

∣∣‖zs(t(s)k )‖ − α
∣∣ = α− ‖zs(t(s)k )‖, ∣∣‖zs(t(s)k+1)‖ − α

∣∣ � α− ‖zs(t(s)k+1)‖.
9%�.�� � �� �#!�"#��%"� <:�5= ������� �#!�"#��%"� <:��=� B!������!�#� 4%� �#!�"#��%"�(

���%
"�$( �%� m(t
(s)
k ) � m(t

(s)
r ) �!� k = r, j� >�%#� �#!#+�#� ' �!#�#�� �!� d(ω) → 0� B������

%!#/�#��# �#!�"#��%"� <:�6=�
��'���%#���%"� �/3# � �����$ τi � t∗ < τi+1 < . . . < τq < t∗ � τq+1 �!�"���%�$ %�' )#( '�'

� �!� ��'���%#���%"# 4%� � �����$ " �#��# �� �
B#!#+�#� ' ���%!�#��. ��!�"�#��$ "%�!� � � !�'��
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B��%� (z(t0), μ(t0)) /∈ W (t0) � q � t0 � p� �����%��( �%� �# "
����#�� �!�"�# �#!�"#��%"�
" <6�6=� �%�!�+ � !�' /#!#% ��!�"�#��# v(t, z) = w(z)� �� ��( ��������$ �#��� 
( �������( �%�

‖z(p)‖ � ‖z(t0)‖ − (μ(t0)− μ(p))m(t0) +B(t0, p) > ε2 + μ(p)m(p).

E%��� /
%�( �!�"�# �#!�"#��%"� " <���= �# "
����#���
B��%� �# "
����#�� �#"�# �#!�"#��%"� " <6�6=� F%� �����%( �%� �!� t = t0 "
����#�
 �#!�*

"#��%"�

‖z(t)‖ < ε1 − μ(t)m(t) +B(t, p), 0 � μ(t0) < ν(t0). <:�:=

�%�!�+ � !�' /#!#% ��!�"�#��# v(t, z) = −w(z)� B��%� �#!"
+ � !�' "
/!�� ���#�%
 '�!*
!#'1�� t0 = τ0 < τ1 � p( 0��'1�� u0(t, z)( φ0(t) � ����� 0 � Δ0 � μ(t0)� A#!�"#��%"� <:�:=
��&!��$%�$ �!� ���#�# " ��& ‖z(t0)‖ � μ(t0) �� ‖z(t0 + 0)‖ � μ(t0 + 0)�

�����%��( �%� �!� t = τ1 "
����#�� �#!�"#��%"�

‖z(t)‖ � ε1 − μ(t)m(t) +B(t, p). <:�
=

��������$ �#!"�# �#!�"#��%"� " <:�:= �!� t = t0+0 � �#�!#!
"���%� 0��'1�+( �%�$3�& " <:�
=(
��+�#� ����� t0 < τ � τ1 %�'�#( �%� �!� t0 � t < τ "
����#�� �#!"�# �#!�"#��%"� " <:�:= �

‖z(τ)‖ = ε1 − μ(τ)m(τ) +B(τ, p). <:��=

�� "%�!� � �#!�"#��%"� " <:�:= ��#��#%( �%� μ(τ) � μ(t0) < ν(t0) � ν(τ)� 9%�.�� � �� �#!"�+
0�!���
 <5�6= ������� �#!�"#��%"� ε1 − μ(τ)m(τ) +B(τ, p) > 0. B�4%��� �� <:��= ��#��#%( �%�
‖z(τ)‖ > 0� E%��� /
%�( ��3#�%"�#% ����� δ > 0 %�'�#( �%� ��$ "�#& τ − δ � t � τ "
����#��
�#!"�# �#!�"#��%"� " <:�:= � ‖z(t)‖ > 0 �!� τ − δ � t � τ � B!��#�$$ �#��� � �!� t∗ = t � t∗ = τ
� ��������$ <:�:=( �������( �%�

‖z(τ)‖ < ε1 − μ(τ)m(t) +B(τ, p) � ε1 − μ(τ)m(τ) +B(τ, p).

B������ �!�%�"�!#��# � <:��=�
E�#��$ "
2#����)#���+ �&#�#( ��)�� ��'���%�( �%� �#!�"#��%"� <:�:= "
����#�
 �!� "�#&

t = τi(  �# τi ? ���#�%
 '�!!#'1��� � ���%���%�( �!� t = p �������( �%� �#"�# �#!�"#��%"�
" <���= �# "
����#���

G�����%!�� %#�#!� �����+( '� �� q1 � t0 < q� �� 0�!��� <	�5=( <5��=( <5�5= � <5�:= �������(
�%� (z, μ) ∈ W (q) %� �� � %���'� %� ��( '� ��

‖z‖ � ε1 + ε2
2

+ μm(q) �!� μ � ν̂(q) <:��=

� ∣∣∣∣‖z‖ − ε1 + ε2
2

∣∣∣∣ � μm(q) �!� 0 � μ < ν̂(q). <:�	�=

B��%� (z(t0), μ(t0)) /∈ W (t0)� �� �� �� 0�!��� <	�5=( <5��= � <5�5= �������( �%� �!� t = t0
"
����#�
 �#!�"#��%"�∣∣∣∣‖z(t)‖ − ε1 + ε2

2

∣∣∣∣ > m(t)(μ(t)−D(t)) �!� 0 � μ(t) < ν̂(t) <:�		=

�

‖z(t)‖ >
ε1 + ε2

2
+m(t)(μ(t) −D(t)) �!� μ(t) � ν̂(t). <:�	�=

G�����%!�� "�����# �����+( '� �� "
����#�� <:�		=� �%�!�+ � !�' /#!#% ��!�"�#��# v(t, z)
�� �#��
 �� B��%� �#!"
+ � !�' "
/!�� ���#�%
 '�!!#'1�+ t0 = τ0 < τ1 � q( 0��'1��
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u0(t, z)( φ0(t) �!� t0 � t � τ1 � ����� 0 � Δ0 � μ(t0)� ��)�� ��'���%�( �%� �#!�"#��%"� <:�		=
"
����#�� �!� ���#�# ‖z(t0)‖ � μ(t0) �� ‖z(t0 + 0)‖ � μ(t0 + 0)�

B��%� �!� "
/!���
& ��!�"�#��$& !#�����"����� z(t) � μ(t)� B!� 4%�� ���� �#�( �%� �!�
t = t0 ��� !�"�
 z(t0 + 0) � μ(t0 + 0)� �� �� z(t) � μ(t) $"�$.%�$ �#�!#!
"�
�� 0��'1�$��
�!� t0 � t � τ1�

�� "%�!� � �#!�"#��%"� " <:�		= � �� ����%�����%� 0��'1�+ μ(t) � ν̂(t) ������� �#!�"#��%"�
μ(t) < ν̂(t) �!� "�#& t0 � t � τ1� 9%�.�� � �� <5�6= ��#��#%( �%�

ε1 + ε2
2

> m(t)(μ(t)−D(t)) �!� t0 � t � τ1.

B�4%���( #��� ‖z(t̂)‖ = 0 " '�'�+*%� ���#�% "!#�#�� t0 � t̂ � τ1( %� �#!�"#��%"� <:�		= �!� t = t̂
"
����#���

B��%� ‖z(τ1)‖ > 0� 9/������� t̂ = inf {t ∈ [t0, τ1] : ‖z(τ)‖ > 0 �!� "�#& t � τ � τ1}.
B�'�)#�( �%� �!� t = t̂ "
����#�� �#!�"#��%"� <:�		=� � ����� �#�#( #��� t̂ = t0( %� �#!�"#�*

�%"� <:�		= "
����#��� B��%� t0 < t̂ < τ1� �� �� ‖z(t̂)‖ = 0 �( ��#��"�%#����( �#!�"#��%"� <:�		=
%�')# "
����#��� �� �#�!#!
"���%� ��#��#%( �%� �!� "�#& ���%�%���� /���'�& ' t̂ ���#� t∗ > t̂
"
����#�� �#!�"#��%"� <:�		= � ‖z(t)‖ > 0 �!� t∗ � t � τ1�

�����#� !��/�#��# ω : t∗ = t1 < . . . < tk+1 = τ1 � �/�������

Bi(ω) =
k∑

s=i

1

m(ts)

∫ tk+1

ts

b(r) dr �
∫ τ1

ti

b(r)

m(r)
dr. <:�	5=

�� �� <��� ,		( �#��� 
�5( �� 5�;6�-= sup
ω

B1(ω) =

∫ τ1

t∗

b(r)

m(r)
dr. E�#��"�%#����( ��3#�%"�#% !��*

/�#��# ω %�'�#( �%� �!� i = 1 "
����#�� �#!�"#��%"�∣∣∣∣‖z(ti)‖ − ε1 + ε2
2

∣∣∣∣ > m(ti)(μ(ti)−Ni(ω)), Ni(ω) = Bi(ω) +

∫ q

τ1

b(r)

m(r)
dr. <:�	6=

�����%��( �%� 4%� �#!�"#��%"� "
����#�� " ���#�% "!#�#�� ti� �� ��( ��������$ �#!�"#�*
�%"� <:�6= � 0�!���� <:�	5=( �������( �%�∣∣∣∣‖z(ti+1)‖ − ε1 + ε2

2

∣∣∣∣ > m(ti)(μ(ti+1)−Ni+1(ω)). <:�	�=

���� μ(ti+1) < Ni+1(ω)( %� �#!�"#��%"� <:�	6= "
����#�� �!� ti+1� B��%� μ(ti+1) � Ni+1(ω)�
�� �� �� <:�	�= � �� �#!�"#��%"� m(ti) � m(ti+1) ��$%� ������� �#!�"#��%"� <:�	6= " ���#�%
"!#�#�� ti+1�

B��� �$ " <:�	6= i = k + 1( �������( �%� �#!�"#��%"� <:�		= "
����#�� �!� t = τ1� B�"%�*
!$$ �!��#�����# !����)�#��#( /��#� ��#%�( �%� �#!�"#��%"� <:�		= "
����#�� "� "�# ���#�%

'�!!#'1�� τi� E%��� /
%�( �!� t = q �#!"�# �#!�"#��%"� " <:�	�= �# "
����#���

G�����%!�� %#�#!� �����+( '� �� �!� t = t0 "
����#�� �#!�"#��%"� <:�	�=� ��' � !��##(
��3#�%"�#% !��/�#��# ω( �!� '�%�!�� �!� i = 1 "
����#�� �#!�"#��%"�

‖z(ti)‖ >
ε1 + ε2

2
+m(ti)(μ(ti)−Ni(ω)). <:�	:=

�%�!�+ � !�' /#!#% ��!�"�#��# v(t, z) = w(z) �!� ti � t � ti+1� �� ��( �!��#�$$ �#��� 
(
�������( �%�

‖z(ti+1)‖ >
ε1 + ε2

2
+m(ti)(μ(ti+1)−Ni+1(ω)).

���� μ(ti+1) � Ni+1(ω)( %�( ��������$ �#!�"#��%"� m(ti) � m(ti+1)( �������( �%� �#!�"#�*
�%"� <:�	:= "
����#�� " ���#�% "!#�#�� ti+1�
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B��%� μ(ti+1) < Ni+1(ω)� �� ��( �� ����� <:�	5=( μ(ti+1) � D(ti+1) < ν̂(ti+1) � "
����#��
�#!�"#��%"� <:�	6=� E%��� /
%�( ������#� " ����"�$ �����$( !���/!���� � "
2#�

B��%� �#!�"#��%"� <:�	:= "
����#�� "� "�# ���#�%
 "!#�#�� ti� �� ��( '�' � !��## ��
�#!�"#��%"� <:�	6=( �������( �%�

‖z(q)‖ >
ε1 + ε2

2
+m(q)μ(q).

9%�.�� � �� <:��= � <:�	�= ��#��#%( �%� (z(q), μ(q)) /∈ W (q)�

G�����%!�� %#�#!� �����+( '� �� q2 � t0 < q1� B��%� �!� t = t0 �# "
����#�� ���� ��
����"�+ <��		=� ���� μ(t0) < D(q1)( %� �!� �./
& ��!�"�#��$& � !�'�" " ���#�% "!#�#��
t = q1 /���% "
����#�
 �#!�"#��%"� <:�		=�

B��%� μ(t0) � D(q1)( �� �!� t = t0 �# "
����#�� �#!"�# �#!�"#��%"� " <��		=� �%�!�+
� !�' /#!#% ��!�"�#��# v(t, z) = w(z)� ���� μ(q1) < D(q1)( %� (z(q1), μ(q1)) /∈ W (q1)� B��%�
μ(q1) � D(q1)� �� ��( ��������$ �#��� 
( �������( �%�

‖z(q1)‖ >
ε1 + ε2

2
+m(t0)(μ(q1)−D(q1)) �

ε1 + ε2
2

+m(q1)(μ(q1)−D(q1)).

E�#��"�%#����( �!� t = q1 "
����#�
 ��/� �#!�"#��%"� <:�		=( ��/� �#!�"#��%"� <:�	�=�

B��%� t0 < q2 � �!� t = t0 �# "
����#�� ���� �� �#!�"#��%" <��	6=� ���� μ(t0) < D(q1)( %�
(z(q1), μ(q1)) /∈ W (q1) �!� �./
& ��!�"�#��$& � !�'�"� B�4%��� ���%�#�( �%� �# "
����#��
�#!"�# �#!�"#��%"� " <��	6=� �%�!�+ � !�' /#!#% ��!�"�#��# v(t, z) = w(z)� �� �� <��� ,		(
%#�!#�� 	��6( �� �	-= ��$ �./� � ��!�"�#��$ �#!"� � � !�'� � ��$ �./� � !#�����"�"2# ��$
�"�)#��$ " ���#�% "!#�#�� q2 /��#% "
����#�� �#!�"#��%"�

‖z(q2)‖ > m(q2)μ̂(q2).

E%��� /
%�( (z(q2), μ(q2)) /∈ W (q2)�
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